ATHTH Roll No.

SI.No. :

Tear Here

No. of Questions— 20

No. of Printed Pages— 11 SS_42_BIOIOgy (D&D)

3= Wi (Th—aier) (CWSN) adien, 2024

SENIOR SECONDARY (D& D) (CWSN)
EXAMINATION, 2024

S o

BIOLOGY
aug ; 4992 15 e

quTieh : 56

gienfdat & oo v fdw
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) udteneff wEyem AU U9 UR W AMIE fara: o)

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) wt U wA e F
All the questions are compul sory.
3) U U 1 IW & M3 IR-YEaeht H & ferd|
Write the answer to each question in the given answer-book only.
4) R gt ® staftes @ug §, 37 |t % IS vk @ g ford|
For questions having more than one part, the answers to those parts are to be %’
27

written together in continuity.
.)E/
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5) U9 U o < 9 3t wuraron | foRet weRr < 3 / e / femenama g R = e
*F T R & wE T

If thereisany error / difference/ contradictioninthe Hindi & English versions
of the question paper, the question of Hindi version should be treated valid.

6) T SW ot ¥ Y& I 1 hHTh v |

Write down the serial number of the question before attempting it.
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Qg - A
SECTION - A

FgfaeRedt e (i & Xvi) Fefeitaa wodt & I 1 6 foeheu oo S Swyferen § fafan)
Choose the correct answer from multiple choice questions. (i to xvi) and writein given
answer book.

1) i) TR-vegfmE e w1 e ) [Y4]
A) T )
") AR 3 I

An example of anon-albuminous seed is

A) Wheat B) Maze
C) Pea D) Castor
i) W S | UihEett o WE ShE i g ¢ [Y4]

) FEETH — JHE TAT — THAS — YU ufiaeq

)  FEAA — FHEAH —> THE Torgd — Yol aiaeq

) gl uRagq — FHETAT — JHAS — THh T

g) THE TAIH — YU UNEEH — THEHH — A

Choose the correct sequence of processes in human reproduction:

A) Gametogenesis— Gametefusion — Zygote — Embryonic development
B) Zygote— Gametogenesis— Gametefusion — Embryonic development
C) Embryonic development — Gametogenesis— Zygote — Gametefusion
D) Gametefusion — Embryonic development — Gametogenesis — Zygote

jii) frafaRaa o @ S afgenst ® Serewon fi afsmmn 22 [V
H) IUSTH q) AfcTRI-IBaA
|) YR 3)  YehaRH-Ie
Which of thefollowing is sterilisation processin females?
A) Oogenesis B) Tubectomy
C) Spermatogenesis D) Vasectomy
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V) EICT STIafTes uqrel § 36k AR § YEaE S0, A8 SHT-ehl o SET | 9T gal [V
HA) IAEESA 9 @A T) HegNBeHA ° hehfeld WA
) ThadmE Sehd g S HIFTS 3) AchE TN 9 WKt <

The unequivocal proof that DNA is the genetic material, came from the
experiments of which scientists.

A) Schleiden and Schwann

B) Mathew Meselson and Franklin Stahl
C) Francois Jacob and Jacque Monod
D) Alfred Hershey and Martha Chase

V) DNA ¥ & AEgiet R sl ATseierl &R | e g 2| [¥4]
#) whA W) WgeEH
q) | 3) TR
Which nitrogenous base pairs with guanine nitrogenous basein DNA
A) Adenine B) Cytosine
C) Thymine D) Uracll
vi) eifda it fher sereron @ - [4]
HA) uEd e 9) THEER e
d) agset fafwo g) TEEHS fawm
Darwin'sfinchesisan example of
A) Convergent evolution B) Pardld evolution
C) Adaptiveradiation D) Chemica evolution
vii)  Sframoy sifa A g - [v4]
an) fevefifen )  HARE
|) e 3) kR
Bacterial diseaseis
A) Diphtheria B) Madaia
C) Amoebiasis D) Ascariasis

SS-42-Biology (D& D) 5127
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vii) FefiRem @ & e geusia ffge e o IeaTe ohia § — [
¥)  wHerEe ufers ) It seEfewn
) AeEEed S 7) YERRTEE TR
Citric acid is produced by which of the following microorganism.
A) Acetobacter aceti B) Clostridium butylicum
C) Lactobacillus species D) Aspergillusniger
iX) WS et ure foRn s @ - [Y4]
3) wHAR )  |gdae
w) e 3) W
Agarose gel is extracted from -
A) Fungus B) Seaweeds
C) Hydrilla D) Wheat
X) o iRt g G Tiesd UgE’ § WY g § - kZ
) fetm A 7)) foetsm D'
¥) faet= 'K g) foetm 'E
"Golden rice" developed by biotechnology isrichin-
A) Vitamin'A' B) Vitamin'D'
C) Vitamin'K' D) Vitamin'E
Xi) TafE o Fl g AT TehHl 1 HE TE § - [Y4]
) T, ISEEd q)  JIH, ATEEA
q) SR, AEEA 3) IR, SEaEH
Correct set of processes which decreases the population density are-
A) Natality, Emigration B) Mortdlity, Immigration
C) Natality, Immigration D) Mortdlity, Emigration
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Xii) W urafen R, s g Shifoet st o g g - [V4]

) WSl 9) el
|) WA 3) WA
Population interactions, in which both the species get benefited.
A) Parasitism B) Competition
C) Mutudism D) Predation
Xiii) wa fafa ufas = Sergwon @ - [Y4]
HA) HHEEA ) At
¥) SRAEHE 2) e SEnet
An example of man-made ecosystemiis -
A) Desert B) Rivers
C) Esuary D) Aquarium
XiV) W JREeTelt o UTehfdeh STaReael i hegd 8 — [4]
H) AR AA ) TG A
") WNor &R 3) IIEhdl
The natural interconnection of food chainiscalled.
A) Food web B) Standing crop
C) Trophiclevel D) Productivity
XV) Eferor oTehieRt o Sigreent § Had e W fave fIRer eie e STt feram T e[ Y]
1) 1990 &) 2002
w) 2010 3) 2020
When wastheworld summit on sustainabl e devel opment held in Johannesburg,
South Africa?
A) 1990 B) 2002
C) 2010 D) 2020
Xvi) gieedie 1 3T ¢ - [2]
H) TN AR HeH q) gt ardE iem
|) ggem g) femrem
Example of a hotspot is -
A) NorthIndianPlains B) Southlndian Plains
C) Tundraregion D) Himdayas

SS-42-Biology (D& D) 5127



2)  fra zerm B ot v -

Fill intheblanks:

) PR % uvar FEE R T AT 2 [4]
The central cell after triple fusion becomes the :

i) TSI % SN TSV | Seafsid SN H W FHA T ... g g 8l [

help in collection of the ovum after ovulation.
i) F,% @ @19 % Sty faio & g dsa 3 F & o) @8 & 91 @18 8@ deo
FARSH ... wad 2l [V4]

To determine the genotype of atall plant in F,, Mendel crossed the tall plant
of F, with adwarf plant, thisis called a

iV) SIUAT & R THI o TEA—TEH F ..o S S gt 2l [V4]

Deletion or insertion of base pairsin DNA cause mutation.
) IR frgia wga 2 f6 wufy ¥ sefier (gm faeedl) smafat oiv 37 wewa
(Frearet) gfRR Bieht &, <t Uk didt ® godt Wit @ R wd E [Y4]

principle saysthat allele frequenciesin apopulation are stable and
IS constant from generation to generation.

V) JOTn ATHE TSNS GRS & Sreteran I g 2 [V4]
IS a protozoan parasite which causes amoebiasis.

vii) S g fhfvaa ame i et 3ud v 19 % IeUTeH o RO gt 21[ Y4
The puffed-up appearance of dough fermented by bacteria is due to the
production of gas.

Viii) SroTferer el g I AT L TATEH kil Wi ¥ A i f&fvw gt W wen
Hua @ w| [V
The cutting of DNA at specific sites became possible with the discovery of
the enzyme called as molecular scissors.

ix) i foe (7 SH R fesg B e 38 g 3 [¥4]
The toxin is coded by a gene named :

X) U U % 329 O 3TRIRA helthdl ............. =i gaTd Afegt # o = [Y4]
Introduction of the African catfish for aquaculture purposes in
our rivers,

SS-42-Biology (D& D) 5127 [ Turn Over
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Frafefga aoat & W Uk vise steran U ufts # i

3)

Givethe answers of the following questionsin aword or aline.

)  STERTSEA i uRwTa i) [1]
Define apomixis.

i) feg2 # fom fuiw & wer fefam) [1]
Write type of sex determination in Grasshopper.

jii) amuAT (RNA) 1 a9 yehR foiRae it vt 31l o oI & STIIaTvTeh &e o UgH 1 i
T 2 [1]
Write the type of RNA which brings aminoacids and reads the genetic code.

iv) DNA # JIfeeaiarss a widhe THg & ste Sufera a¢1 ot am foRau) [1]
Write the name of bond between phosphate group and nucleoside in DNA.

V) B Sleed U S feuntt ergar e fema oft o [1]
What was the approximately brain size of Homo erectus man?

Vi) geareua @i il [1]
Write anal ogy.

vii) wfsra aferen i uftenfum Fif) [1]
Defineactiveimmunity.

viii) 3 TR & foru Suar | foru A et genstia @t Am falem) [1]
Write the name of microorganism used in bread making.

Qs -9
SECTION - B
TSN T (SN 18 € 50 91e2)

Short answer type questions (Answer word limit 50 words) :

4)

5)

TESASIUIEH h TTEAT 1 Fui i) [1%2]
Describe the structure of megasporangium.

Teh URATSRITT Shi TSR TS 1 ATHIThA o SIS [1%4]
Draw |abelled diagram of transverse section of apollen sac.
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7

8)

9)

10)

11)

12)

13)

14)

15)

9
IS T TENfifeRal o g diF 3arewn ferlau) [Vt Yt Ye=1Y/]
Write any three examples of assisted reproductive technol ogies.

AT SRHAT AT T HRUT T HIfTU| [1Y4]
Explain reason of sickle-cell anaemiadisease.

31Ut YLTTrT SRl SN ST U= oRt forst 3| [1¥]
Draw a Punnett square diagram showing the incompl ete dominance.

Ffgaret U= H gemstial i yftet Tz [17]]

Explainrole of microorganismsin sewage treatment.

TER TI 1 TR o aATEu) [1v7]
Draw alabelled diagram of biogas plant.

T HifvERe | foeTdia v i Teaw wE v i = fefan) [1¥]
Write one method of introducing foreign DNA into host cells.

3. W w1 wargs pBR 322 w1 fom =g [1Y3)]
Draw adiagram of E. cali cloning vector pBR 322.

RS S <ht TR feiRaw| uwsiet Siq @ 7 i gH a1en Uk o foiRau) [1+Y2=1Y5)
Definetransgenic animals. Write one benefit for man by transgenic animals.

[ h! TR U HA | 0T M dehrich [hl TR TEIeh 8, 3aTedUT deht THEEU|

[172]
Explain with an example, how molecular diagnostic techniques are helpful inearly
diagnosis of the diseases.

T TILIUT ki IATHUT e THEATSY | [1%4]
Explain|n situ conservation by giving an example.

SS-42-Biology (D& D) 5127 [ Turn Over



10

€ - ¥
SECTION - C
FreeaT T (IW vise w100 vr1) -
Long answer type questions (Answer word limit 1200 words) :
16) YA T THATST [3]
Explain spermatogenesis.
rra/OR
3R] & FrfeTRem Wit o @ feafau) [1+1+1=3]
) I
i) wemEE
i)y Js
Write the function of following parts of sperm -
)  head
i) middlepiece
i) tall
17) SuT 9 JRUAT & o o7 37w fefam) [1+1+1=3]
Write three differences between DNA and RNA.
rra/OR
Frafefea & sR ° fefem) [1+1+1=3]

) 3 wE HA e AR Rl

i) S % a9 WE Al UUeTsE T Heekad Tl g
i) S wE fm aEn % gr e 2

Write about thefollowing.

1)  Genetic code that has dual functions.

i) A segment of DNA coding for a polypeptide.
i)  Fragmentsof DNA joined by which enzyme.

18) wvm a1 (wifie) wwf afg w1 avi SR

[3]
Describe the logistic population growth.
rra/OR
Tufe H HIE di9 Agegut v fofam) [1+1+1=3]

Write three important characteristics of a population.

SS-42-Biology (D& D) 5127
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TQug - 3
SECTION - D

Feremares w9 (W vreg @i 150 wise) -
Essay type questions (Answer word limit 150 words) :

19) i)

20)

Ii)
1))
)

i)
1))

)
i)

i)

AIDS =t qu 7™ feiRaru|
HIV wsrmur & o @l faRau)
HIV wsrHuT <ht T w1 3ura foifam)
Writefull name of AIDS.
Write four ways of transmission of HIV infection.
Write away to prevent HIV infection.
[1+2+1=4]
et/ OR
[E9t HeuA i uRaiia k)
HaH 2783 9 gaH 3TEg | IR e Hif
HW o ot v wwoT w6t fAfam)
Define contact inhibition
Explain the difference between benign tumors and malignant tumors.
Write any one cause of cancer.
[1+2+1=4]

AC AR IeUTIHT hl TRWINT <hifeU|
Tt foifare wea Wt srawen ° g g | auensu)
Define net primary productivity.
Explain with diagram that the pyramid of energy isalwaysupright.
[1+3=4]
et/ OR
form = o1 T wEe 6l g Hif)
Teh TUEATT UTRAA § 3709 eh ATHAT o AgTgUl TRUN <hi AHEIET
Define standing crop.
Explain important steps in the process of decomposition in a terrestrial
ecosystem.
[1+3=4]

,_).

¥

,_).
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